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WA 3 | duiméE (H5) 3 1,700 1,300 700 10

IZA LA JuimE (Hi5) 2 2,000 1,700 1,400 10

F<En 7.1 | duiE () 7.1 1,200 700 500 10

F Y 5.7 | duim& (H5) 5.7 1,200 900 700 10

3O NAK 0.3 | dkmE 0.3 180 0.17

nE 2 |t (+5) 2 130 0.25

Zh& 0.1 |dtiméE (D 0.1 160 0.1

125 0.1 dkmE 0.1 110 0.1

L5z 0.2 | duiméE (%) 0.2 960 900 840 4

H=— 0.1 |dtiméE () 0.1 900 840 4

w0 0.5 | JuEmdE (1) 0.5 2,600 2,300 700 5

A5 0.8 | mHE 0.8 250 0.35

LF kL 0.2 | duiméE (D 0.2 3,300 3,100 2,700 4

I=F<hH 0.3 | dbiméE () 0.3 3,000 2,700 2,100 3

E—=< v 0.3 | duiméE (H)ID 0.3 130 0.15

Nl & 2 | dtimE (+5) 2 3,200 1,200 10

fcEhE 6 | dbimE 6 4,300 2,500 20
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